

Confidentiality Requested:

Yes No

## Kansas Corporation Commission Oil & Gas Conservation Division

1215586

Form ACO-1
August 2013
Form must be Typed
Form must be Signed
All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #			API No. 15		
Name:			Spot Description:		
Address 1:			Sec.	TwpS. R	East West
Address 2:			F6	eet from North /	South Line of Section
City:	State: Z	ip:+	Fe	eet from East /	West Line of Section
Contact Person:			Footages Calculated from	Nearest Outside Section C	Corner:
Phone: ()			□ NE □ NW	V □SE □SW	
CONTRACTOR: License #			GPS Location: Lat:	, Long:	
Name:				(e.g. xx.xxxxx)	(e.gxxx.xxxxx)
Wellsite Geologist:			Datum: NAD27	NAD83 WGS84	
Purchaser:			County:		
Designate Type of Completion:			Lease Name:	W	ell #:
	e-Entry	Workover	Field Name:		
	_		Producing Formation:		
☐ Oil ☐ WSW ☐ D&A	☐ SWD	∐ SIOW ∏ SIGW	Elevation: Ground:	Kelly Bushing:	
	GSW	Temp. Abd.	Total Vertical Depth:	Plug Back Total D	epth:
CM (Coal Bed Methane)	dow	Temp. Abd.	Amount of Surface Pipe Se	et and Cemented at:	Feet
☐ Cathodic ☐ Other (Co	ore. Expl., etc.):		Multiple Stage Cementing	Collar Used? Yes	No
If Workover/Re-entry: Old Well I			If yes, show depth set:		
Operator:			If Alternate II completion, c	cement circulated from:	
Well Name:			feet depth to:	w/	sx cmt.
Original Comp. Date:					
Deepening Re-perf	J	ENHR Conv. to SWD	Drilling Fluid Managemer	nt Plan	
Plug Back	Conv. to G		(Data must be collected from to		
Commingled	Permit #		Chloride content:	ppm Fluid volume	: bbls
Dual Completion			Dewatering method used:_		
SWD			Location of fluid disposal if	hauled offsite:	
ENHR	Permit #:				
GSW	Permit #:		Operator Name:		
			Lease Name:		
Spud Date or Date R	eached TD	Completion Date or	Quarter Sec	TwpS. R	East West
Recompletion Date		Recompletion Date	County:	Permit #:	

#### **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

**Submitted Electronically** 

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT

Page Two



Operator Name:				Lease I	Name: _			Well #:		
Sec Twp	S. R	East	West	County	:					
INSTRUCTIONS: Shopen and closed, flow and flow rates if gas to	ring and shut-in press o surface test, along v	ures, whet vith final c	ther shut-in pre hart(s). Attach	essure reac extra shee	hed stati t if more	c level, hydrosta space is neede	tic pressures, bod.	ottom hole temp	erature, fluid re	ecovery,
Final Radioactivity Lo files must be submitte						gs must be ema	liled to kcc-well-	ogs@kcc.ks.go	v. Digital electi	ronic log
Drill Stem Tests Taker (Attach Additional		Ye	es No			J	on (Top), Depth		Samp	
Samples Sent to Geo	logical Survey	Ye	es No		Nam	e		Тор	Datum	1
Cores Taken Electric Log Run		☐ Ye								
List All E. Logs Run:										
				RECORD	Ne					
	0: 11.1					ermediate, product		" 0 1	T 15	
Purpose of String	Size Hole Drilled		e Casing (In O.D.)	Weig Lbs.		Setting Depth	Type of Cement	# Sacks Used	Type and Pe Additive	
			ADDITIONAL	CEMENTI	NG / SQL	JEEZE RECORD				
Purpose:	Depth Top Bottom	Туре	of Cement	# Sacks	Used		Type and	Percent Additives		
Perforate Protect Casing	Top Detterm									
Plug Back TD Plug Off Zone										
1 lug 0 li 20 lio										
Did you perform a hydrau	ulic fracturing treatment of	on this well?	•			Yes	No (If No, s	kip questions 2 a	nd 3)	
Does the volume of the t			_		-		= ` `	kip question 3)		
Was the hydraulic fractur	ing treatment information	n submitted	to the chemical of	disclosure re	gistry?	Yes	No (If No, f	ill out Page Three	of the ACO-1)	
Shots Per Foot			D - Bridge Plug Each Interval Perf				cture, Shot, Ceme			Depth
						(			_	
TUBING RECORD:	Size:	Set At:		Packer A	<del></del>	Liner Run:				
		0017111				[	Yes N	0		
Date of First, Resumed	Production, SWD or EN	HR.	Producing Meth	nod:	g 🗌	Gas Lift (	Other (Explain)			
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wat	er B	bls.	Gas-Oil Ratio	Gra	avity
DIODOCITI	01.05.040			4ETUOD 05	001451	TION		DDODUCT	ONLINITED (A)	
DISPOSITION Solo	ON OF GAS:  Used on Lease		N Open Hole	∥ETHOD OF ☐ Perf.			nmingled	PRODUCTION	ON INTERVAL:	
	bmit ACO-18.)		Other (Specify)		(Submit		mit ACO-4)			



#### **REMIT TO**

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

Invoice #

INVOICE

05/14/2010 Invoice Date:

Terms:

\_\_\_\_\_\_ Page

BLAKE PRODUCTION CO, INC. 1601 NW EXPRESSWAY SUITE 1200 OKLAHOMA CITY OK 73118 (405) 286 - 9800

DAVIS RANCH A-29 28707

05-13-10

Part 1	Number Description	Qty	Unit Price	Total
1104S	CLASS "A" CEMENT (SALE)	235.00	13.1000	3078.50
1102	CALCIUM CHLORIDE (50#)	660.00	.7300	481.80
1107	FLO-SEAL (25#)	60.00	2.0000	120.00
1107A	PHENOSEAL (M) 40# BAG)	235.00	1.1200	263.20
1118A	S-5 GEL/ BENTONITE (50#)	450.00	.1700	76.50
1104S	CLASS "A" CEMENT (SALE)	65.00	13.1000	851.50
1102	CALCIUM CHLORIDE (50#)	185.00	.7300	135.05
1118A	S-5 GEL/ BENTONITE (50#)	125.00	.1700	21.25
4434	10 3/4" WOODEN PLUG	1.00	102.0000	102.00
4109	CEMENT BASKET 10 3/4"	1.00	427.0000	427.00
	Description	Hours	Unit Price	Total
437	80 BBL VACUUM TRUCK (CEMENT)	15.00		1440.00
445	CEMENT PUMP (SURFACE)	1.00	700.00	700.00
445	EQUIPMENT MILEAGE (ONE WAY)	70.00	3.55	248.50
479	TON MILEAGE DELIVERY	493.50	1.20	592.20
543	TON MILEAGE DELIVERY	493.50	1.20	592.20

\_\_\_\_\_\_

\_\_\_\_\_\_\_ 377.87 AR 9507.57 .00 Tax: 5556.80 Freight: Parts:

Labor:

.00 Misc:

.00 Total:

.00 Supplies:

.00 Change:

9507.57

.00

\_\_\_\_\_\_

Signed

Date





TICKET NUMBER 28707

LOCATION EUREKA

FOREMAN KENW MCCoy

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

# FIELD TICKET & TREATMENT REPORT CEMENT

DATE	CUSTOMER#	WELL NAME & NU	MBER	SECTION	TOWNSHIP	RANGE	COUNTY
5-13-10	1298	DAVIS RANCH A-	29	33	135	106	anboursee
CUSTOMER	- Da. 1 . 1						
AILING ADDRI	E PROduction	N Lo., INC.	_ Summit [	TRUCK#	DRIVER	TRUCK#	DRIVER
			DR19.	445	Justin		
1601 N	.W. Expres.	SWAY STE 1200	_  Co. [	543	DAVE		
ITY		STATE ZIP CODE		479	John S		
OKlAhom		OK 73118	_] [	437	Jim		
OB TYPE Su		HOLE SIZE 14314	HOLE DEPTH	375' KB	CASING SIZE & W	EIGHT 10 3/4	40 # NBW
	333 G.L.	DRILL PIPE	TUBING			OTHER	
URRY WEIGH	т <u>/5. 4 #</u>	SLURRY VOL 60 BBC	WATER gai/sk	6.5	CEMENT LEFT In		
SPLACEMENT	31. 9 BLL	DISPLACEMENT PSI	MIX PSI		RATE	OAOING - 10	
MARKS: SA	Fety Meetin	: Rig Lost Circulat	how while .	DRILLING SU	REACE hole @	179' K.R.	Harriad
Ater while	L DRY DRILL	ling FROM 179' - 37	5'. Consolie	lated Haule	d 1120 RAL 1	25Co. To.	orne No
120 BbL. (	Total 2240 L	96(), RAN 333 6.L.	Measuremen	+ 103/4" Cas	ma DRILLING	Ria Diman	1 50 PM
el water	w/ No Fluid	To SURFACE. Rigup 7	Genent M	uxed 235	+. Class are		30 886
16 4 1/W	4 Florate 1'	Phenoseal Ist @ 15.	4+/04/ Ch.	11. 81	AS CHAD IT CO.	ment by 3	Z CACE,
sates Go	+ Flored +	Cuecare Ale Came de	Potron (	FOOWN, RET	ASE TNO. DISPL	Ace w/ 32	BOC TREST
y (Co d	Packet ISC	SURFACE. No Cement	A HOLENS. 7	NAUNS STA	Nding TULL C	F Fluid.	Shut Casin
·· CEMENT	DASKET 133	Below G.L.) WAIT.	Z MRS. KAL	1 Tubing	down ANNUL	IS TAY CE.	ment @ 60
WINER DO	SKS CIMIS M	CEMENT W/ 3% CACL	2,2% Gel, 6	Good Cemen	t to SURFACE.	Pull I'T	abing.
106 Comple	te. Rig down	·					

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
54015	/	PUMP CHARGE	700.00	700.00
5406	70	MILEAGE	3.55	248.50
11045	235 sks	Class "A" Cement,	13.10	3078.50
//02	660#	CACL2 3%	. 13 *	481.80
1107	60 #	Flocele 1/4 1/5k Stage * 1	2.00 #	120.00
1107 A	235 *	Pheno Seal 1 1/5#	1.12 *	263-20
11184	450 *	Gel 2%	.17*	76.50
11045	65 sks	Class A" Gement STAge #2	13.10	851.50
//02	185 *	CACLE 3% 60' TO SURFACE W/ 1"Toban	, 73 "	135.05
1118 A	125 *	GeL 2%	. 17 *	21.25
5407 A	14. Tons	70 miles Buck Trucks	1.20	1184.40
5502C	15 HRS	80 BBL VAC TRUCK (HARL water to DRILL 1484"	96.00	1440.00
		SURFACE hole; Lost CIRCUlation @ 179') TD 375'		
4434		103/4 wooden Plug	102.00	102.00
4/09	/	10 3/4 Cement BASKet	427.00	427.00
			Sub TotAL	9129-70
n 3737		THANK YOU 6.8%	SALES TAX	377.87
		234261	ESTIMATED TOTAL	9507.5
THORIZTION W	Itwessed By JEFF S	TAHL TITLE BLAKE CO. Rep.	DATE 5-13-	

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.



**REMIT TO** 

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

234396

Invoice #

INVOICE		Invoice #	234396
Invoice Date: 05/26/2010 Terms:		Pag	e 1
BLAKE PRODUCTION CO, INC. 1601 NW EXPRESSWAY SUITE 1200 OKLAHOMA CITY OK 73118 (405)286-9800	DAVIS A-29 28771 05-25-10	MAY % 8 2011	
		13 Y	
	=======================================	:========	======

1126A 1110A 1123	Number	Description THICK SET CEMENT KOL SEAL (50# BAG) CITY WATER	Qty 175.00 875.00 3300.00 1.00	Unit Price 16.5000 .4000 .0145 236.0000	Total 2887.50 350.00 47.85 236.00
4206 4187 4107 4131 4409		GUIDE SHOE 7" FLOAT COLLAR 7" CEMENT BASKET 7" CENTRALIZER 7" 7" RUBBER PLUG(TOP)	1.00 1.00 2.00 6.00 1.00	484.0000 300.0000 54.0000 76.0000	484.00 600.00 324.00 76.00
445 445 543	Description CEMENT PUMP EQUIPMENT MILE TON MILEAGE DE	-	Hours 1.00 70.00 673.40	Unit Price 900.00 3.55 1.20	Total 900.00 248.50 808.08

\_\_\_\_\_\_ 340.36 AR 7302.29 .00 Tax: Parts: 5005.35 Freight: .00 Total: 7302.29 .00 Misc: Labor: .00 Change: .00 .00 Supplies: Sublt: \_

Date Signed





TICKET NUMBER

LOCATION EUREKA FOREMAN KEVIN MCGY

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

### FIELD TICKET & TREATMENT REPORT **CEMENT**

				CLMEIA	1			
DATE	CUSTOMER#	WE	LL NAME & NUN	/BER	SECTION	TOWNSHIP	RANGE	COUNTY
5-25-10	1298	DAVIS	A-29		33	135	10E	WADAUNSEE
CUSTOMER		_		0 - 4				
BIAKE	PROduction	1 Co. INC.		Summit	TRUCK #	DRIVER	TRUCK#	DRIVER
MAILING ADDRE				Dalg.	445	Justin		
1601 1	V.W. Expres	SWAY STE	1200	Co.	543	Dave		
CITY		STATE	ZIP CODE					
OKIAhom	A City	OK	73118					
JOB TYPELON	astrong O	HOLE SIZE	91/2	HOLE DEPTH	3360 KB	CASING SIZE & W	EIGHT 7" 2.	3 " New
CASING DEPTH	3356' KB	DRILL PIPE		TUBING			OTHER	
SLURRY WEIGH	T/3.5*	SLURRY VOL	58 BbL	WATER gal/s	k <b>%</b> °	CEMENT LEFT in	CASING Z	
DISPLACEMENT	133 BbL	DISPLACEME	NT PSI 900	PSI 1300	Bump Plug	RATE & BPM		
REMARKS: SA	sety Meetin	19: 70 33	60' KB 7"	" 23 + CASIN	9 Set @ 33	156' = 2' Abor	CKB R	242 1
7" CASING	. BREAK C	IRCULATIO	N W/ 15 A	BLL FResh'	water M	1xed 175 sks	THICK S	et Cement
W/5 * Ko	L-SEAL ISK	@ 13.50	lant Viel	d 1-85. S	hut down.	wash out Pa	umo & Lin	es Repare
Plug. D.	isplace w/	133 866	FRESH WAS	tee. FINAL	Pumoino t	PRESSUR 900 F	St. Ruma	Phys to
1300 PSI-	WAIT 2 M	inutes. K	Pelease PR	essure +	TOAT HOLL	Good CIRCO	Motion 6	611
times wh	ile Cement	ive Joh	Complete	Pia dous		Osop CALC	441100	, ,,,,,,
			•	/				
Note: 58	BAL STURE	V X 24.9	LIN.FT	- 1445	511 110 001	INGAUGE ho.		
			- Bble	- 1110 /	The up on	ing Huge 100	/e.	

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401		PUMP CHARGE	900-00	900,00
5406	70	MILEAGE	3,55	248.50
1126 A	175 sks	THICK Set Coment	16.50	2887.50
1110 A	875 *	KOL-SEAL 5 */SK	, 40	350.00
5407 A	9.62 Tous	70 miles Buck Truck	1.20	808.08
//23	3300 gAb	City water	14.50/1000	47.85
4206	1	7" Guide Shoe	236-00	236.00
4187		7" FlOAT COLLAR	484.00	484.00
4107	2	7" Cement BASKets	300.00	600.00
4131	6	7" Centralizors	54.00	324.00
4409		7" Top Rubber Aug	76-00	76.00
			Sub Total	6961.93
		THANK YOU 6.8%	SALES TAX	340.36
in 3737	Tiff Stocks extressed By Jeff S	HALL TITLE Blake Co. Rop.	ESTIMATED TOTAL	7302.29

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.